BOARD OF INTERMEDIATE EDUCATION:HYDERABAD
MODEL QUESTION PAPER (w.e.f. IPE March 2015)

Part - 1T
ARABIC PAPER - 1T
(Second Language)
TIME : 3 HOURS MARKS: 100
P PR PIKEN N S
Attempt any ONE. (1x8=8)

Laga sl 5 bl Jasi

Complete the following verses and explain.

Sl B i) 3 gl [ Bl duadA qiS) LTI
Write the summary of any ONE of the following poems in your own language  (1x6=6)
Jsa ol e 1
L siwy 2

aSil A bl Cpa pall O AadA s 11

Write the summary of any ONE of the following lessons in your own language  (1x6=6)

e sl 1
Jladl & 2

s QN o AL A e cal TV

Answer any THREE of the following in Arabic ) ) (3x2=6)
¢ :\.&)).3\ CJA Qg\ L1
¢ Uisel Ly S ol (1S s 3
¢ e A Y JE e 4
C el ndll js5nde 5
¢ A S il 6



s AUl L) O ) 2 e SNV

Give the reference of any TWO verses from the following. (2x3=6)

Suall 34080 e o jidl a5 V) g flall b aaall ]
o3 sailanddan ) & o 5 e alYl GlA 2
SEURTLSEgE Oal U 3

slaall LS S ledl el 4

2 Al Jaadl cpi) g e SY VI
Give the reference of any TWO Sentences from the following. (2x3=6)
0d & gld¥l ) 1
Ocdlanelle 2
e ) pm ) ladll ¢ e el Jaal N Gaes Jal (e dassls 3
LALIS el (10) e sad o U 7 side il 4

s O e qal VI

Answer any TWO of the following in Arabic (2x3=6)
¢ M\ 9 C\_\.\.uﬂ\ L)A 1
2 il dS Glu e ale gallda 2
SO AL R 3
¢ aleall o yini | 4

s i e cal VI
Answer any TWO of the following in Arabic (2x3=6)
¢ el oy Ja
¢ e (pama e 2
¢ digll aaiea Jol 0l 3
¢ sl bl jas jUae aS 4

+ Baal g AalSy Ay ALY e cal X
Answer the following in one word (5x1=5)
PP I T |
lEy, gLl L Ja 2
2 il sl el 3
¢ Cpll SSA e 4
Tt palllda 5



s Baa) g dalSy Ay ALy ool
Answer the following in one word (5x1=5)
T Ol (A 8 e ]
€22 58 (e 2

¢ alisall 3o e Dl 2 o 3
o SOl 5 o L 4
¢ Al Jaal yale pamacusa a5

:@ﬂQWMY\%\é@Y\SJQMHﬁ‘ )
Read the following passage carefully and answer the questions given below in Arabic
(1x5=5)

Ja Y e e S e da g caaall JAo 5 e dnadd) Jlaaal caad
 agine calls <l JB 5 30l 7 53 Eiagh axd s deal Glal | (el G Caegd
ha A Dy JB | Gaoall (e 3 kadl Bl 1585 aaadl Gl SELY) Ty
cOall i@ e oall G L el alad) 25 8 Mlalee ey WY ala g adle A
Ll (e Y 2 A
s ALl
¢ 2l cad ol 1
?WY\wﬁmi?@jd&, 2
A3
¢ agiae lla daal Ja 4
¢ A Jewy, JEIDL S

Al 3 lad) (e dpan¥) Alaad) (e Jan A (e
Identify any THREE nominal sentences from the following (f1x3=12)
CGead Ml 1
Cdadll 2L Jaa 2
ALY Jasi agh 3
CAA] Lkl 4
Cen B asudl 5
2l 8 LY 2 6

2 AV B bl G el cpa i) ABDE )
Pick up any THREE prepositions from the following (3x2=6)
sl b eyl 2 1

LA e mslid) 2
5l pndl Cela 3

X

X1

XII

XIII



COiasall el (Mo ela 4
. u.u)ﬂ\ QA'&J\.}:J\ ol 5

coaes Al as 6

: 3.931:\3\ bl (e d\.’.é\ a& d)é‘ XIV
Find any THREE verbs from the following text (3x2=6)
CAasaYlall s
coodl dadl his 2
CAaY callaiss 3
cdaall ol Cuegd 4
Cdatdll 5 ) g dealall i 5
el Il J2a 6

N e pa) Jed ) £ L) (e Jladi 23 Jsa XV
Convert any THREE Present tenses into imperative tense from the following (3x2=6)

8 elw
. :!S:
.

L
<
oo e e o

: a...,dlﬂ\ Y gg:d\ Jad uﬁ\ f‘g‘ Jad pa Jlad) dad Jen  XVI

Convert imperfect tense into negative imperative tense any FIVE from the following (5x1=5)

.................. : |

0 N oL WwN



